

## DUALITY AND SUFFICIENCY IN MULTIOBJECTIVE FRACTIONAL PROGRAMMING WITH INVEXITY

DO SANG KIM<sup>1†</sup> AND HYO JUNG LEE<sup>2</sup>

DEPT. OF APPLIED MATHEMATICS, PUKYONG NATIONAL UNIVERSITY, BUSAN 608-737, SOUTH KOREA  
E-mail address: <sup>1</sup>dskim@pknu.ac.kr, <sup>2</sup>lhj1436@pknu.ac.kr

ABSTRACT. In this paper, we introduce generalized multiobjective fractional programming problem with two kinds of inequality constraints. Kuhn-Tucker sufficient and necessary optimality conditions are given. We formulate a generalized multiobjective dual problem and establish weak and strong duality theorems for an efficient solution under generalized convexity conditions.

### 1. INTRODUCTION AND PRELIMINARIES

Multiobjective fractional programming problems arise when more than one ratio objective function is to be optimized over a given feasible region. Efficiency or Pareto optimum is the optimality concept that appears to be the natural extension of the optimization of a single objective to the consideration of multiple objectives.

Recently, there has been an increasing interest in developing programming problems.

In 1961, Wolfe [15] studied the duality theorem of convex programming. Afterward, a number of different duals distinct from the Wolfe dual are proposed for the nonlinear programs by Mond and Weir [11]. Duality relations for objective fractional programming problems with a (generalized) convexity condition, were given by many authors [1, 3, 5, 8, 10, 12, 13, 14].

In 1992, Jeyakumar and Mond [6] introduced V-invexity. After Khan and Hanson [7] established duality theorem for single objective fractional programming problem by using ratio invexity condition, Craven and Mond [3] obtained more generalized duality results by using invexity and V-invexity due to Jeyakumar and Mond [6].

This thesis has two aims. One is an extension of the results in Craven and Mond [3] for two inequality constraint conditions from the single objective to multiobjective cases. And the other is to formulate a generalized multiobjective fractional dual problem.

This paper is organized as follows. In section 1, we introduce generalized multiobjective fractional problems under the concept of efficient solution needed in the proof of a strong

---

Received by the editors March, 3, 2009; Accepted April, 19, 2009.

2000 *Mathematics Subject Classification.* 90C29, 90C32, 90C46.

*Key words and phrases.* Duality, Optimality Conditions, Multiobjective Programming, Fractional Programming, Invexity.

This work was supported by Pukyong National University Research Fund in 2006(PK-2006-017).

<sup>†</sup> Corresponding author.

duality relation. In section 2, we establish Kuhn-Tucker sufficient conditions for generalized multiobjective fractional problem. In section 3, we prove weak and strong duality theorems for multiobjective fractional dual problem due to Craven and Mond [3] and generalized multiobjective fractional problem under generalized convexity.

We consider the following generalized multiobjective fractional programming problem:

$$\begin{aligned} \text{(MFP)} \quad & \text{Minimize} \quad q(x) = \left( \frac{f_1(x)}{g_1(x)}, \dots, \frac{f_p(x)}{g_p(x)} \right) \\ & \text{subject to} \quad h_j(x) \leq 0, \quad k_j(x) \leq 0, \quad j = 1, 2, \dots, m \quad x \in X, \end{aligned}$$

where  $X$  is an open set of  $\mathbb{R}^n$ ,  $f := (f_1, \dots, f_p) : X \rightarrow \mathbb{R}^p$ ,  $g := (g_1, \dots, g_p) : X \rightarrow \mathbb{R}^p$ ,  $h := (h_1, \dots, h_m) : X \rightarrow \mathbb{R}^m$  and  $k := (k_1, \dots, k_m) : X \rightarrow \mathbb{R}^m$  are continuously differentiable over  $X$ . Let  $S = \{x \in X : h_j(x) \leq 0, k_j(x) \leq 0, j = 1, 2, \dots, m\}$ . We assume that  $f(x) \geq 0$  for all  $x \in X$  and  $g(x) > 0$  for all  $x \in X$ .

The following convention for inequalities will be used in this paper. If  $x, u \in \mathbb{R}^n$ , then  $x \leq u$  iff  $u - x \in \mathbb{R}_+^n$ ,  $x \leq_e u$  iff  $u - x \in \mathbb{R}_+^n \setminus \{0\}$ ,  $x < u$  iff  $u - x \in \text{int}\mathbb{R}_+^n$ , and  $x \not\leq_e u$  is the negation of  $x \leq u$ . For  $x, u \in \mathbb{R}$ ,  $x \leq u$  and  $x < u$  have the usual meaning.

**Definition 1.1.** A feasible solution  $\bar{x}$  for (MFP) is a efficient solution for (MFP) if  $q(x) \not\leq_e q(\bar{x})$  for all  $x \in T$ .

**Definition 1.2.** A function  $F : \mathbb{R}^n \rightarrow \mathbb{R}$  is said to be sublinear if  $F(\alpha_1 + \alpha_2) \leq F(\alpha_1) + F(\alpha_2)$  for any  $\alpha_1, \alpha_2 \in \mathbb{R}^n$  and  $F(r\alpha) = rF(\alpha)$  for any  $r \in \mathbb{R}_+, \alpha \in \mathbb{R}^n$ .

**Definition 1.3.** Given an open set  $X \subset \mathbb{R}^n$ , a number  $\rho \in \mathbb{R}$ , and two functions  $\alpha : X \times X \rightarrow \mathbb{R}_+ \setminus \{0\}$  and  $d : X \times X \rightarrow \mathbb{R}$ , a differentiable function  $f$  over  $X$  is said to be  $(F, \alpha, \rho, d)$ -convex at  $\bar{x} \in X$  if for any  $x \in X$ ,  $F(x, \bar{x}; \cdot) : \mathbb{R}^n \rightarrow \mathbb{R}$  is sublinear, and  $f(x)$  satisfies the following condition:

$$f(x) - f(\bar{x}) \geq F(x, \bar{x}; \alpha(x, \bar{x}) \nabla f(\bar{x})) + \rho d^2(x, \bar{x}).$$

If  $\rho = 0$  or  $d(x, x_0) = 0$  for all  $x, x_0 \in X$  and  $F(x, x_0; \alpha(x, x_0) \nabla f(x_0)) = \nabla f(x_0)^T \eta(x, x_0)$  for a certain mapping  $\eta : X \times X \rightarrow \mathbb{R}^n$ , then  $(F, \alpha, \rho, d)$ -convexity reduces to invexity.

In the proof of a strong duality relation, we will use the following lemma due to Chankong and Haimes[2].

**Lemma 1.1.**  $\bar{x}$  is an efficient solution for (MFP) if and only if for all  $i = 1, 2, \dots, p$ ,  $\bar{x}$  solves  $(P_i)$

$$\begin{aligned} (P_i) \quad & \text{Minimize} \quad \frac{f_i(x)}{g_i(x)} \\ & \text{subject to} \quad x \in X_i, \end{aligned}$$

where  $X_i = \{x \in \mathbb{R}^n \mid \frac{f_j(x)}{g_j(x)} \leq \frac{f_j(\bar{x})}{g_j(\bar{x})} \text{ for all } j \neq i, h_j(x) \leq 0, k_j(x) \leq 0\}$ .

## 2. OPTIMALITY CONDITIONS

Now, we establish the Kuhn-Tucker type sufficient and necessary optimality theorem for (MFP).

**Lemma 2.1.** *Let  $X \subset \mathbb{R}^n$  be an open set. Assume that  $p, q$  and  $r$  are real-valued differentiable functions defined on  $X$  and  $p(x) + r(x) \geq 0, q(x) > 0$  for all  $x \in X$ . If  $p, r$  and  $-q$  are  $(F, \alpha, \rho, d)$ -convex at  $\bar{x} \in X$ , then  $\frac{p+r}{q}$  is  $(F, \bar{\alpha}, \bar{\rho}, \bar{d})$ -convex at  $\bar{x}$ , where*

$$\bar{\alpha}(x, \bar{x}) = \frac{\alpha(x, \bar{x})q(\bar{x})}{q(x)}, \quad \bar{\rho} = \rho \left( 1 + \frac{p(\bar{x})+r(\bar{x})}{q(\bar{x})} \right), \quad \text{and} \quad \bar{d}(x, \bar{x}) = \frac{d(x, \bar{x})}{q^{\frac{1}{2}}(x)}.$$

*Proof.* For any  $x \in X$ , we have

$$\frac{p(x)+r(x)}{q(x)} - \frac{p(\bar{x})+r(\bar{x})}{q(\bar{x})} = \frac{(p(x)+r(x))-(p(\bar{x})+r(\bar{x}))}{q(x)} - \frac{(p(\bar{x})+r(\bar{x}))(q(x)-q(\bar{x}))}{q(x)q(\bar{x})}.$$

By the  $(F, \alpha, \rho, d)$ -convexity of  $p, r$  and  $-q$ , and  $p + r \geq 0, q > 0$ , we obtain

$$\begin{aligned} \frac{p(x)+r(x)}{q(x)} - \frac{p(\bar{x})+r(\bar{x})}{q(\bar{x})} &\geq \frac{1}{q(x)} \left( F(x, \bar{x}; \alpha(x, \bar{x})\nabla(p(\bar{x}) + r(\bar{x})) + \rho d^2(x, \bar{x})) \right) \\ &\quad + \frac{(p(\bar{x})+r(\bar{x}))}{q(x)q(\bar{x})} \left( F(x, \bar{x}; -\alpha(x, \bar{x})\nabla q(\bar{x})) + \rho d^2(x, \bar{x}) \right). \end{aligned}$$

Based on the sublinearity of  $F$  and  $p + r \geq 0, q > 0$ , the following inequalities can be obtained:

$$\begin{aligned} \frac{p(x)+r(x)}{q(x)} - \frac{p(\bar{x})+r(\bar{x})}{q(\bar{x})} &\geq F\left(x, \bar{x}; \frac{\alpha(x, \bar{x})}{q(\bar{x})}\nabla(p(\bar{x}) + r(\bar{x}))\right) + \rho \frac{d^2(x, \bar{x})}{q(x)} \\ &\quad + F\left(x, \bar{x}; -\frac{\alpha(x, \bar{x})(p(\bar{x})+r(\bar{x}))}{q(x)q(\bar{x})}\nabla q(\bar{x})\right) + \rho \frac{d^2(x, \bar{x})(p(\bar{x})+r(\bar{x}))}{q(x)q(\bar{x})} \\ &\geq F\left(x, \bar{x}; \frac{\alpha(x, \bar{x})}{q(x)} \cdot \frac{q(\bar{x})\nabla(p(\bar{x})+r(\bar{x}))-(p(\bar{x})+r(\bar{x}))\nabla q(\bar{x})}{q(\bar{x})}\right) + \rho \left( 1 + \frac{p(\bar{x})+r(\bar{x})}{q(\bar{x})} \right) \frac{d^2(x, \bar{x})}{q(x)} \\ &= F\left(x, \bar{x}; \frac{\alpha(x, \bar{x})q(\bar{x})}{q(x)}\nabla \frac{p(\bar{x})+r(\bar{x})}{q(\bar{x})}\right) + \rho \left( 1 + \frac{p(\bar{x})+r(\bar{x})}{q(\bar{x})} \right) \frac{d^2(x, \bar{x})}{q(x)}. \end{aligned}$$

Denote  $\bar{\alpha}(x, \bar{x}) = \frac{\alpha(x, \bar{x})q(\bar{x})}{q(x)}$ ,  $\bar{\rho} = \rho \left( 1 + \frac{p(\bar{x})+r(\bar{x})}{q(\bar{x})} \right)$ , and  $\bar{d}(x, \bar{x}) = \frac{d(x, \bar{x})}{q^{\frac{1}{2}}(x)}$ . Then we have

$$\frac{p(x)+r(x)}{q(x)} - \frac{p(\bar{x})+r(\bar{x})}{q(\bar{x})} \geq F\left(x, \bar{x}; \bar{\alpha}(x, \bar{x})\nabla \frac{p(\bar{x})+r(\bar{x})}{q(\bar{x})}\right) + \bar{\rho} \bar{d}^2(x, \bar{x}), \quad \forall x \in X.$$

Therefore,  $\frac{p+r}{q}$  is  $(F, \bar{\alpha}, \bar{\rho}, \bar{d})$ -convex at  $\bar{x}$ .  $\square$

**Theorem 2.2. (Kuhn-Tucker Sufficient Conditions)** *Let  $\bar{x}$  be a feasible solution of (MFP). Suppose that there exist  $\lambda = (\lambda_1, \lambda_2, \dots, \lambda_p)^T > 0, v = (v_1, v_2, \dots, v_m)^T \in \mathbb{R}_+^m$  and  $w = (w_1, w_2, \dots, w_m)^T \in \mathbb{R}_+^m$  such that*

$$\begin{aligned} \sum_{i=1}^p \lambda_i \nabla \frac{f_i(\bar{x}) + v^T h(\bar{x})}{g_i(\bar{x})} + \sum_{j=1}^m w_j \nabla k_j(\bar{x}) &= 0, \\ v^T h(\bar{x}) &= 0, \quad w^T k(\bar{x}) = 0. \end{aligned} \tag{2.1}$$

*If  $f_i, -g_i, i = 1, 2, \dots, p$ , and  $v^T h$  are  $(F, \alpha_i, \rho_i, d_i)$ -convex at  $\bar{x}$ ,  $k_j$  for all  $j = 1, 2, \dots, m$  is  $(F, \beta_j, \zeta_j, c_j)$ -convex at  $\bar{x}$ , and*

$$\sum_{i=1}^p \lambda_i \bar{\rho}_i \frac{\bar{d}_i^2(x, \bar{x})}{\bar{\alpha}_i(x, \bar{x})} + \sum_{j=1}^m w_j \zeta_j \frac{c_j^2(x, \bar{x})}{\beta_j(x, \bar{x})} \geq 0, \tag{2.2}$$

where  $\bar{\alpha}_i(x, \bar{x}) = \frac{\alpha_i(x, \bar{x})g_i(\bar{x})}{g_i(x)}$ ,  $\bar{\rho}_i = \rho_i(1 + \frac{f_i(\bar{x})+v^T h(\bar{x})}{g_i(\bar{x})})$ , and  $\bar{d}_i(x, \bar{x}) = \frac{d_i(x, \bar{x})}{g_i^{\frac{1}{2}}(x)}$ , then  $\bar{x}$  is an efficient solution for (MFP).

*Proof.* Suppose that  $\bar{x}$  is not a global efficient solution of (MFP). Then there exists a feasible solution  $x$  such that  $\frac{f(x)}{g(x)} \leq_e \frac{f(\bar{x})}{g(\bar{x})}$ .

Since  $x$  is feasible for (MFP) and  $v^T h(\bar{x}) = 0$ ,

$$\frac{f(x)+v^T h(x)e}{g(x)} \leq_e \frac{f(\bar{x})+v^T h(\bar{x})e}{g(\bar{x})}.$$

By Lemma 2.1, for each  $i$ ,  $1 \leq i \leq p$ ,  $\frac{f_i+v^T h}{g_i}$  is  $(F, \bar{\alpha}_i, \bar{\rho}_i, \bar{d}_i)$ -convex, i.e.,

$$\frac{f_i(x)+v^T h(x)}{g_i(x)} - \frac{f_i(\bar{x})+v^T h(\bar{x})}{g_i(\bar{x})} \geq F\left(x, \bar{x}; \bar{\alpha}_i(x, \bar{x}) \nabla \frac{f_i(\bar{x})+v^T h(\bar{x})}{g_i(\bar{x})}\right) + \bar{\rho}_i \bar{d}_i^2(x, \bar{x}),$$

where  $\bar{\alpha}_i(x, \bar{x}) = \frac{\alpha_i(x, \bar{x})g_i(\bar{x})}{g_i(x)}$ ,  $\bar{\rho}_i = \rho_i(1 + \frac{f_i(\bar{x})+v^T h(\bar{x})}{g_i(\bar{x})})$ , and  $\bar{d}_i(x, \bar{x}) = \frac{d_i(x, \bar{x})}{g_i^{\frac{1}{2}}(x)}$ .

Since  $\bar{\alpha}_i(x, \bar{x}) > 0$ , by the sublinearity of  $F$ , we have

$$\frac{1}{\bar{\alpha}_i(x, \bar{x})} \left( \frac{f_i(x)+v^T h(x)}{g_i(x)} - \frac{f_i(\bar{x})+v^T h(\bar{x})}{g_i(\bar{x})} \right) \geq F\left(x, \bar{x}; \nabla \frac{f_i(\bar{x})+v^T h(\bar{x})}{g_i(\bar{x})}\right) + \bar{\rho}_i \frac{\bar{d}_i^2(x, \bar{x})}{\bar{\alpha}_i(x, \bar{x})},$$

where the left-hand side of the above inequality is less than or equal to zero.

Hence, we obtain the following inequalities,

$$F\left(x, \bar{x}; \nabla \frac{f_i(\bar{x})+v^T h(\bar{x})}{g_i(\bar{x})}\right) + \bar{\rho}_i \frac{\bar{d}_i^2(x, \bar{x})}{\bar{\alpha}_i(x, \bar{x})} \leq 0, \quad i = 1, 2, \dots, p,$$

and at least one inequality holds strictly.

Multiplying the above inequalities with  $\lambda_i > 0$ ,  $i = 1, 2, \dots, p$ , respectively, and then adding them together, we have

$$\sum_{i=1}^p \lambda_i F\left(x, \bar{x}; \nabla \frac{f_i(\bar{x})+v^T h(\bar{x})}{g_i(\bar{x})}\right) + \sum_{i=1}^p \lambda_i \bar{\rho}_i \frac{\bar{d}_i^2(x, \bar{x})}{\bar{\alpha}_i(x, \bar{x})} < 0.$$

By the sublinearity of  $F$  and  $\lambda_i > 0$ ,  $i = 1, 2, \dots, p$ , we know that

$$\sum_{i=1}^p \lambda_i F\left(x, \bar{x}; \nabla \frac{f_i(\bar{x})+v^T h(\bar{x})}{g_i(\bar{x})}\right) \geq F\left(x, \bar{x}; \sum_{i=1}^p \lambda_i \nabla \frac{f_i(\bar{x})+v^T h(\bar{x})}{g_i(\bar{x})}\right).$$

Hence, we get

$$F\left(x, \bar{x}; \sum_{i=1}^p \lambda_i \nabla \frac{f_i(\bar{x})+v^T h(\bar{x})}{g_i(\bar{x})}\right) + \sum_{i=1}^p \lambda_i \bar{\rho}_i \frac{\bar{d}_i^2(x, \bar{x})}{\bar{\alpha}_i(x, \bar{x})} < 0.$$

Substituting (2.1) into above inequality, we obtain

$$F(x, \bar{x}; -\sum_{j=1}^m w_j \nabla h_j(\bar{x})) + \sum_{i=1}^p \lambda_i \bar{\rho}_i \frac{\bar{d}_i^2(x, \bar{x})}{\bar{\alpha}_i(x, \bar{x})} < 0. \quad (2.3)$$

The sublinearity of  $F$  and (2.2) yield

$$\begin{aligned} F(x, \bar{x}; -\sum_{j=1}^m w_j \nabla k_j(\bar{x})) + \sum_{i=1}^p \lambda_i \bar{\rho}_i \frac{\bar{d}_i^2(x, \bar{x})}{\bar{\alpha}_i(x, \bar{x})} + F(x, \bar{x}; \sum_{j=1}^m w_j \nabla k_j(\bar{x})) + \sum_{j=1}^m w_j \zeta_j \frac{c_j^2(x, \bar{x})}{\beta_j(x, \bar{x})} \\ \geq \sum_{i=1}^p \lambda_i \bar{\rho}_i \frac{\bar{d}_i^2(x, \bar{x})}{\bar{\alpha}_i(x, \bar{x})} + \sum_{j=1}^m w_j \zeta_j \frac{c_j^2(x, \bar{x})}{\beta_j(x, \bar{x})} \geq 0. \end{aligned}$$

Using (2.3), we obtain

$$F(x, \bar{x}; \sum_{j=1}^m w_j \nabla k_j(\bar{x})) + \sum_{j=1}^m w_j \zeta_j \frac{c_j^2(x, \bar{x})}{\beta_j(x, \bar{x})} > 0. \quad (2.4)$$

On the other hand, for  $j = 1, 2, \dots, m$ , by the  $(F, \beta_j, \zeta_j, c_j)$ -convexity of  $k_j$ , we have

$$k_j(x) - k_j(\bar{x}) \geq F(x, \bar{x}; \beta_j(x, \bar{x}) \nabla k_j(\bar{x})) + \zeta_j c_j^2(x, \bar{x}).$$

By using  $w_j \geq 0$ ,  $\beta_j(x, \bar{x}) > 0$  and the sublinearity of  $F$ , we have

$$\sum_{j=1}^m w_j \frac{k_j(x) - k_j(\bar{x})}{\beta_j(x, \bar{x})} \geq F(x, \bar{x}; \sum_{j=1}^m w_j \nabla k_j(\bar{x})) + \sum_{j=1}^m w_j \zeta_j \frac{c_j^2(x, \bar{x})}{\beta_j(x, \bar{x})}.$$

Since  $x$  is feasible,  $w \in \mathbb{R}_+^n$ ,  $w^T k(\bar{x}) = 0$  and  $\beta_j(x, x_0) > 0$  implies that

$$\sum_{j=1}^m w_j \frac{k_j(x) - k_j(\bar{x})}{\beta_j(x, \bar{x})} \leq 0.$$

Then, we obtain

$$F(x, \bar{x}; \sum_{j=1}^m w_j \nabla h_j(\bar{x})) + \sum_{j=1}^m w_j \zeta_j \frac{c_j^2(x, \bar{x})}{\beta_j(x, \bar{x})} \leq 0,$$

which contradicts (2.4). Therefore,  $\bar{x}$  is an efficient solution for (MFP).  $\square$

From Lemma 1.1, we have the following Kuhn-Tucker necessary optimality theorem for (MFP).

**Theorem 2.3. (Kuhn-Tucker Necessary Conditions)** *Let  $\bar{x}$  be an efficient solution for (MFP). Assume that  $\bar{x}$  satisfies a constraint qualification for  $(P_i)$ ,  $i = 1, 2, \dots, p$ . Then there exist  $\lambda \geq 0$ ,  $v \in \mathbb{R}^m$  and  $w \in \mathbb{R}^m$  such that*

$$\begin{aligned} \sum_{i=1}^p \lambda_i \nabla \frac{f_i(\bar{x}) + v^T h(\bar{x})}{g_i(\bar{x})} + \sum_{j=1}^m w_j \nabla k_j(\bar{x}) &= 0, \\ v^T h(\bar{x}) &= 0, \quad v \geq 0, \quad w \geq 0. \end{aligned}$$

### 3. DUALITY THEOREMS

We propose the following multiobjective fractional dual problem to the primal problem (MFP):

$$\begin{aligned} \text{(MFD) Maximize } p(u, v) &= \left( \frac{f_1(u) + v^T h(u)}{g_1(u)}, \dots, \frac{f_p(u) + v^T h(u)}{g_p(u)} \right) \\ \text{subject to } \nabla \lambda^T p(u, v) + \nabla w^T k(u) &= 0, \\ v \geq 0, \quad w \geq 0, \quad w^T k(u) &= 0, \quad \lambda = (\lambda_1, \dots, \lambda_p)^T > 0, \end{aligned} \quad (3.1)$$

where  $p : X \times \mathbb{R}^m \rightarrow \mathbb{R}^p$  and  $e = (1, \dots, 1)^T \in \mathbb{R}^p$ .

**Theorem 3.1. (Weak Duality)** *Assume that  $x$  is feasible for (MFP) and  $(u, v, \lambda, w)$  is feasible for (MFD). If  $f_i, -g_i$ ,  $i = 1, 2, \dots, p$ , and  $v^T h$  are  $(F, \alpha_i, \rho_i, d_i)$ -convex at  $u$ ,  $k_j$ ,  $j = 1, 2, \dots, m$ , is  $(F, \beta_j, \zeta_j, c_j)$ -convex at  $u$ , and the inequality*

$$\sum_{i=1}^p \lambda_i \bar{\rho}_i \frac{\bar{d}_i^2(x, u)}{\alpha_i(x, u)} + \sum_{j=1}^m w_j \zeta_j \frac{c_j^2(x, u)}{\beta_j(x, u)} \geq 0 \quad (3.2)$$

holds, where  $\bar{\alpha}_i(x, u) = \frac{\alpha_i(x, u)g_i(u)}{g_i(u)}$ ,  $\bar{\rho}_i = \rho_i(1 + \frac{f_i(u)+v^T h(u)}{g_i(u)})$ , and  $\bar{d}_i(x, u) = \frac{d_i(x, u)}{g_i^{\frac{1}{2}}(x)}$ , then we have  $\frac{f(x)}{g(x)} \not\leq_e \frac{f(u)+v^T h(u)e}{g(u)}$ .

*Proof.* Assume to the contrary that

$$\frac{f(x)}{g(x)} \leq_e \frac{f(u) + v^T h(u)e}{g(u)}. \quad (3.3)$$

For each  $i$ ,  $1 \leq i \leq p$ , by the generalized convexity assumptions and Lemma 2.1, we have

$$\frac{f_i(x)+v^T h(x)}{g_i(x)} - \frac{f_i(u)+v^T h(u)}{g_i(u)} \geq F\left(x, u; \bar{\alpha}_i(x, u) \nabla \frac{f_i(u)+v^T h(u)}{g_i(u)}\right) + \bar{\rho}_i \bar{d}_i^2(x, u),$$

where  $\bar{\alpha}_i(x, u) = \frac{\alpha_i(x, u)g_i(u)}{g_i(x)}$ ,  $\bar{\rho}_i = \rho_i\left(1 + \frac{f_i(u)+v^T h(u)}{g_i(u)}\right)$  and  $\bar{d}_i(x, \bar{x}) = \frac{d_i(x, u)}{g_i^{\frac{1}{2}}(x)}$ . Using

$\lambda_i > 0$ ,  $\bar{\alpha}_i(x, \bar{x}) > 0$  and the sublinearity of  $F$ , we get, for  $i = 1, 2, \dots, p$ ,

$$\frac{\lambda_i}{\bar{\alpha}_i(x, u)} \left( \frac{f_i(x)+v^T h(x)}{g_i(x)} - \frac{f_i(u)+v^T h(u)}{g_i(u)} \right) \geq \lambda_i F\left(x, u; \nabla \frac{f_i(u)+v^T h(u)}{g_i(u)}\right) + \lambda_i \bar{\rho}_i \frac{\bar{d}_i^2(x, u)}{\bar{\alpha}_i(x, u)}.$$

Then, by (3.3) and  $v^T h(x) \leq 0$ , we obtain

$$\lambda_i F\left(x, u; \nabla \frac{f_i(u)+v^T h(u)}{g_i(u)}\right) + \lambda_i \bar{\rho}_i \frac{\bar{d}_i^2(x, u)}{\bar{\alpha}_i(x, u)} \leq 0, \quad i = 1, 2, \dots, p,$$

and at least one of the above inequalities holds strictly.

After adding these inequalities together, we get

$$\sum_{i=1}^p \lambda_i F\left(x, u; \nabla \frac{f_i(u)+v^T h(u)}{g_i(u)}\right) + \sum_{i=1}^p \lambda_i \bar{\rho}_i \frac{\bar{d}_i^2(x, u)}{\bar{\alpha}_i(x, u)} < 0.$$

Hence, it follows from the sublinearity of  $F$  that

$$F\left(x, u; \sum_{i=1}^p \lambda_i \nabla \frac{f_i(u) + v^T h(u)}{g_i(u)}\right) + \sum_{i=1}^p \lambda_i \bar{\rho}_i \frac{\bar{d}_i^2(x, u)}{\bar{\alpha}_i(x, u)} < 0. \quad (3.4)$$

By the  $(F, \beta_j, \zeta_j, c_j)$ -convexity of  $k_j$ ,  $j = 1, 2, \dots, m$ , we have

$$k_j(x) - k_j(u) \geq F(x, u; \beta_j(x, u) \nabla k_j(u)) + \zeta_j c_j^2(x, u).$$

Using  $w_j \geq 0$  and  $\beta_j(x, \bar{x}) > 0$ , we get

$$w_j \frac{k_j(x) - k_j(u)}{\beta_j(x, u)} \geq w_j F(x, u; \nabla k_j(u)) + w_j \zeta_j \frac{c_j^2(x, u)}{\beta_j(x, u)}, \quad j = 1, 2, \dots, m.$$

Adding these inequalities together and since  $x$  is feasible of (MFP) and  $w^T k(u) = 0$ , we obtain

$$\sum_{j=1}^m w_j F(x, u; \nabla k_j(u)) + \sum_{j=1}^m w_j \zeta_j \frac{c_j^2(x, u)}{\beta_j(x, u)} \leq 0.$$

Using the sublinearity of  $F$  again, we have

$$F\left(x, u; \sum_{j=1}^m w_j \nabla k_j(u)\right) + \sum_{j=1}^m w_j \zeta_j \frac{c_j^2(x, u)}{\beta_j(x, u)} \leq 0. \quad (3.5)$$

Based on the sublinearity of  $F$ , (3.1), (3.4), and (3.5), the following contradiction occurs:

$$\begin{aligned} 0 &= F(x, u; 0) = F\left(x, u; \sum_{i=1}^p \lambda_i \nabla \frac{f_i(u) + v^T h(u)}{g_i(u)} + \sum_{j=1}^m w_j \nabla k_j(u)\right) \\ &\leq F\left(x, u; \sum_{i=1}^p \lambda_i \nabla \frac{f_i(u) + v^T h(u)}{g_i(u)}\right) + F\left(x, u; \sum_{j=1}^m w_j \nabla k_j(u)\right) \\ &< -\left(\sum_{i=1}^p \lambda_i \bar{\rho}_i \frac{\bar{d}_i^2(x, u)}{\bar{\alpha}_i(x, u)} + \sum_{j=1}^m w_j \zeta_j \frac{\bar{c}_j^2(x, u)}{\bar{\beta}_j(x, u)}\right) \leq 0. \end{aligned}$$

Therefore, it follows that  $\frac{f(x)}{g(x)} \not\leq_e \frac{f(u)+v^T h(u)e}{g(u)}$ . □

**Theorem 3.2. (Strong Duality)** *Assume that  $\bar{x}$  is an efficient solution of (MFP) and  $\bar{x}$  satisfies a constraint qualification [9] for  $(P_i)$ . Then there exist  $\bar{\lambda} \in \mathbb{R}^p > 0$ ,  $\bar{v} \in \mathbb{R}_+^m$ ,  $\bar{w} \in \mathbb{R}_+^m$  such that  $(\bar{x}, \bar{v}, \bar{\lambda}, \bar{w})$  is feasible for (MFD), and the objective function values of (MFP) and (MFD) at the corresponding points are equal. If the assumptions about the generalized convexity and the inequality (3.2) in weak duality are also satisfied, then  $(\bar{x}, \bar{v}, \bar{\lambda}, \bar{w})$  is an efficient solution of (MFD).*

*Proof.* Since  $\bar{x}$  is an efficient solution of (MFP), from Lemma 1.1,  $\bar{x}$  solves  $(P_i)$ , for all  $i = 1, 2, \dots, p$ . Now from the necessary optimality theorem 2.3, there exist  $\bar{\lambda} > 0$ ,  $\bar{v} \geq 0$  and  $\bar{w} \geq 0$  such that

$$\text{centerline} \nabla \left( \bar{\lambda}^T \frac{f(\bar{x}) + \bar{v}^T h(\bar{x})}{g(\bar{x})} \right) + \nabla \bar{w}^T k(\bar{x}) = 0 \text{ and } \bar{w}^T k(\bar{x}) = 0.$$

Thus,  $(\bar{x}, \bar{v}, \bar{\lambda}, \bar{w})$  is a feasible solution of (MFD). Moreover, by Theorem 3.1,  $(\bar{x}, \bar{v}, \bar{\lambda}, \bar{w})$  is an efficient solution. □

#### REFERENCES

- [1] C.R. Bector, *Duality in nonlinear fractional programming*, Zeitschrift fur Ope. Res. **17** (1973), 183-193.
- [2] V. Chankong and Y.Y. Haimes, *Multiojective Decision Making: Theory and Methodology*, Elsevier Science Publishing Co. Inc., 1983.
- [3] B.D. Craven and B. Mond, *Fractional programming with invexity*, in: Andrew Eberhard, Robin Hill, Daniel Ralph and Barney M. Glover(eds.), *Progress in Optimization: Contributions from Australasia*, Kluwer Academic Publishers, 1999, 79-89.
- [4] M.A. Hanson, *On sufficiency of the Kuhn-Tucker condition*, J. Math. Anal. Appl. **80** (1981), 545-550.
- [5] R. Jagannathan, *Duality for nonlinear fractional programs*, Z. Oper. Res. **17** (1973), 1-3.
- [6] V. Jeyakumar and B. Mond, *On generalized convex mathematical programming*, J. Optl. Theo. Appl. **34**(1992),43-53.
- [7] Z.A. Khan and M.A. Hanson, *On ratio invexity in mathematical programming*, J. Math. Anal. Appl. **205** (1997), 330-336.
- [8] P. Kannappan, *Necessary conditions for optimality of nondifferentiable convex multiojective program*, J. Opti. Theo. Appl. **40** (1983), 167-174.
- [9] D.S. Kim and S.J. Kim, *Nonsmooth fractional programming with generalized ratio invexity*, RIMS Kokyuroku 1365, April, pp.116-127, (2004).
- [10] O.L. Mangasarian, *Nonlinear programming*, McGraw-Hill, New York, 1969.

- [11] B. Mond and T. Weir, *Duality for fractional programming with generalized convexity conditions*, J. Inf. Optim. sci. **3** (1982), 105-124.
- [12] B. Mond and T. Weir, *Generalized convexity and higher order duality*, in: S. Schaible, W.T. Ziemba(Eds.), *Generalized Convexity in Optimization and Economics*, Academic Press, New York, 1981, 263-280.
- [13] S. Schaible, *Duality in fractional programming : a unified approach*, Oper. Res. **24** (1976), 452-461.
- [14] S. Schaible, *Fractional programming I : duality*, Management Sci., **22** (1976), 858-867.
- [15] P. Wolfe, *A duality theorem for nonlinear programming*, Quart. Appl. Math. **19** (1961), 239-244.